v
BRACE AND LIGHT GAUGE COLUMN SCHEDULE m _ 0
MARK | LEFT COLUMN RIGHT COLUMN BRACE SCREWS ® BOOT TO COLUMN BEARING WALL STUD SCHEDULE HEADER SCHEDULE ™
EA. oTRAP | BOOT CONNECTION GRID 3
LOCATION SIZE SrAchie 1ST FLOOR 2ND FLOOR 3RD FLOOR 4TH FLOOR
SW-14 (2)600C250-43 | (2)600C250-43| (2) 4"'x54MIL STRAPS EU. 4 A (4) - 2 SCREW
xS4MIL STRAP = 6T ELOOR - EXTERIOR L OBOIB2-68 o O, MARK 8IZE KING STUDS KING STUDS KING STUDS KING STUDS NOTES =
SW-1B (2)600C250-43 | (2)600C250-43] (2) 4"'xB4MIL STRAPS ELU. 6 B (4) -BOLTS A5 1 pPY—— —— prr—— ot as -
sW-1c (2)600C250-43 | (2600C250-43| (2) 4'x54MIL STRAPS EW. 8 B (4) -BOLTS ‘ 18T FLOOR - INTERIOR 600s162-91 le" ocC. H-l OO UERTON. oW BOXED | N/A N/A BOXED E m
SW-ID | (20600C250-54 | (2600C250-54| (2) 6 x54MIL STRAPS EW. 12 = (4) -BOLTS ST ooR —ETERoR - o2 (2)6005162-43 BOXED FILLED W/ (206005162-43 | (20600%162-43 | (2)6008162-43 VA =
SW-2A (2)60DC250-43 | (2)600C250-43| (2) 4"'xB4MIL STRAPS EU. 4 A (4) - %2 SCREW NON-BEARING 6005162-54 6" oC. INSULATION BOXED BOXED BOXED T
sW-28 (2)600C250-43 | (2)600C250-43| (2) 4"'xB4MIL STRAPS ELU. P B (4) -BOLTS c uos (2)6005162-68 BOXED FILLED W/ /A (206028162-54 | (206008162-43 VA T M
SW-2C | (2)e00C250-54 | (2)6@0C250-54] (2) 4'x54MIL STRAPS EW. 3 B (4) -BOLTS IND FLOOR - EXTERIOR 6o00162-54 le" oc. NEULATION POXED POXED S Z
- - . : - (2)eeoS\62-91 BOXED FILLED W/ ] A v o)
sW-2D (2)600C250-91 | (2J)600C250-21| (2) &6"x54MIL STRAPS E. 12 B (4) -BOLTS IND FLOOR - INTERIOR ODSIE2-08 o oc. Hed NEULATION & 143 112%/4 (26028161-54 N/A N/A N/A o S
SW-34 (2)600C250-43 | (2)600C250-43| (2) 4"'xB4MIL STRAPS EU. 5 A (4) - #2 SCREW VENEER ANGLE E =S
sW-38 (2)600C250-54 | (2)e@DC250-54| (2) 4"x54MIL STRAPS EW. 1 B (4) -BOLTS 2ND FLOOR - EXTERIOR " (2)6005162-43 BOXED FILLED W/ ® z
. E NON-BEARING eo08i62-43 l6" oc. H-5 INSULATION ¢ L4x3 1/2x1/4 (2)6005162-45 N/A N/A N/A T T &
sw-3c (2)e20C250-68 | (2)o@DC252-68| (2) 4"'x54MIL STRAPS EM. 9 B (4) -BOLTS VENEER ANGLE N =
SW-3D HESExex5/16 HESExex5/16 | (2) &"x54MIL STRAPS EU. N/A N/A N/A 3RD FLOOR - EXTERIOR 60295162-45 6" OC. o (2)6005162-54 BOXED FILLED W/ (D OBSIE2-45 N
- - - : - m - - INSULATION 4 L4x3 1/2x5/16 - N/A N/A N/A _ -
SW-4A (2)600C250-43 | (2e00C250-43| (2) A__xma_(___. STRAPS EW 4 A (4) - M2 SCREW D FLoom — NTERoR P Y VENEER ANGLE BOXED —_
sW-4B (2)600C250-43 | (2)600C250-43| (2) 6"x54MIL STRAPS E. 5 A (4) - #2 SCREW - > ol BOND BEAM W/ 2 e e T ASONST PER U/ 2 B FILL FEGT C a Wn
SW-4C (2)600C250-68 | (2)600C250-68| (2) 4"'x54MIL STRAPS EU. T B (4) -BOLTS 3RD FLOOR - EXTERIOR ; H-1 CONTINUOUS EACH JAMB o
sW-4D (2)600C250-68 | (2)600C250-68| (2) 4'xB4MIL STRAPS E. ) B (4) -BOLTS - g (2)TDJ225x1.15x14 GA BOXED FILLED W/ | 1y poaiz s o R W
SW-5A (2)600C250-43 | (2)600C250-43| (2) 4'x54MIL STRAPS EL. 4 A (4) - %2 SCREW 4TH FLOOR - EXTERIOR bOD5I62-43 o' oc. _zmc_.@mmm_mm_.%amm_._%xm\_s BUILT-UP N/A N/A N/A A =
SW-58 (2)600C250-43 | (2)600C250-43| (2) 4"'x54MIL STRAPS EU. 4 A (4) - "2 SCREW fo 34 - YY) |
SU-5C | (20600C250-54 | (20600C250-549 (2) 4'x54MIL STRAPS ELU. o B (4) -BOLTS T 4TH FLOOR - INTERIOR eoD8162-43 le" oc. H-9 (I4TDWI2 BOXED 5
sW-5D (2)600C250-68 | (2)600C250-68| (2) 4'x54MIL STRAPS EU. 8 B (4) -BOLTS 7TH FLOOR - EXTERIOR (2)6005162-43 <
- " Ooc. H-12 (2)14TDWI2
SU-64 | (2600C25E0-43 | (2)600C250-43| (2) 4'x54MIL STRAPS EU. p A (4) - "2 SCREW NON-BEARING 600S162-43 6" oc BOXED ©
sW-6B (2)600C250-43 | (2)600C250-43| (2) 4"'xB4MIL STRAPS EU. 5 B (4) -BOLTS ) H-11 (2)TDJ125x115x14 GA (06028162-54 | (216000162-54 | (26005162-54 8
sW-6C (2)600C250-54 | (2)600C250-54] (2) 4'x54MIL STRAPS E. ) B (4) -BOLTS e Toesoeer i Toroeoesoa ©
Sl-6D | (20600C250-68 | (2)600C250-68| (2) &'x54MIL STRAPS EL. 2 B (4) -BOLTS H-12 (2)TDJ225xI15x14 GA BSOS BSOS BOXED =
sW-TA (2)600C250-43 | (2)600C250-43| (2) 4"'x54MIL STRAPS EU. 4 A (4) - %2 6CREW 0
sW-18 (2)600C250-43 | (2)600C250-43| (2) 4"'xB4MIL STRAPS EU. 5 B (4) -BOLTS 5 M
suw-1c (2)60DC250-54 | (2)600C250-54] (2) 4"x54MIL 6TRAPS E. T B (4) -BOLTS NOTE: 18GA AND LIGHTER Fy-33 K81, 16GA AND HEAVIER Fy=50 K&| TYPICAL
SW-TD (2)600C250-68 | (2)600C250-68| (2) 6"x54MIL STRAPS EW. ) B (4) -BOLTS
SW-8A (2)600C250-43 | (2)600C250-43| (2) 4"'xB4MIL STRAPS EU. 4 A (4) - M2 SCREW
sW-2B (2)600C250-43 | (2)600C250-43| (2) 4"'xB4MIL STRAPS EU. 4 A (4) - #2 SCREW 62 8-
sW-8c (2)600C50-43 | (2)600C250-43] (2) 4'xB4MIL STRAPS ELU. 4 A (4) - %2 SCREW \
sW-eD | (20e00C250-43 | (20600C250-43] (2) 4'x54MIL STRAPS E. 5 A (4) - "2 SCREU WALL SHEATHING WALL 8TUDS: FLOOR SHEATHING )
ALL EXTERIOR WALL SHEATHING TO BE 5/8" DENS-GLASS SHEATHING 1) SEE WALL STUD SCHEDULE FOR BEARING WALL STUD SIZE, SPACING, FLOOR DECKING TO BE 26C 26 GA. GALVANIZED METAL DECKING A"
SHOULDER AND KING STUD REQUIREMENTS. WITH GYPCRETE TOPPING TOTALING J'" INCLUDING DECKING. >
BRACE AND LIGHT GAUGE COLUMN SCHEDULE NOTE: 2.) HATCHED WALLS REPRESENT BEARING WALLS ~"
LG. COLUMNS: Fy=50KS| Dl
MAXIMUM BRIDGING SPACING = 48" ALL STAIR LANDING
FRAMING TO BE [ J
TDJ925x ] 15XI6GA © START JOIST SPACING OFF INSIDE FACE OF
. - " 6" OcC. TYPICA CORRIDOR WALL AND WORK TOWARDS
SCREWS AT STRAP: "2, DIA. = @216 UNLESS ZOﬂmU - EXTERIOR OF BUILDING @ SFPECIFIED
OTHERWISE. SPACING TO ALLOW CORRIDOR WALLS TO
BOOTS: AS DETAILED IN "THE STEELNETWORK, INC. LOAD BEARING WALL SYSTEMS", OR EXTEND TO UNDERSIDE OF FLOOR DECK.
ENGINEER APPROVED EQUAL. s (TYPICAL o UALL
PLATE THICKNESS = 3" (UNO.) e T C -
PLATE STRENGTH, Fy = 5@ KS| (UN.O.) (< D - @
T Drawn:SEB
BOOT TO COL. CONN:  WHERE THE BOOT TO COLUMN CONNECTION I8 INDICATED AS BOLTS, THE BOLTS /| o o N
SHALL BE ' DIA. A325-N I T T Approved:
WHERE THE BOOT TO COLUMN CONNECTION I8 INDICATED AS SCREWS, THE SCREWS o P
SHALL BE %2 (DIA. = ©206) H-5 I H-5
STRAP TRACK : STRAP TRACK 1S PRODUCED FROM 14 GUAGE (68 MIL) AND 1S DESIGNED TO FIT INSIDE 5 P < 000\ (000
THE SELECTED STANDARD TRACK EXCEPT FOR BOOT F WITH A DEPTH GREATER THAN - Z . 0oo) \0o2)
OR EQUAL TO 55" HUERE STRAP TRACK |5 MADE FROM 12 GUAGE (21 MIL) STEEL FY= 50 K8 N T . =
AS DETAILED IN "THE STEEL NETWORK, INC. LOAD BEARING WALL SYSTEMS", OR ENGINEER T 2 4
APPROVED EQUAL. 4 \Q
8- : INTERIOR GYPSUM TO BE FASTENED AT ALL EDGES TO TOP PLATESSILL PLATES AND STUDS ; :
WITH *& SCREWS AT 1" OC. ATTACH TO STUDS IN FIELD OF PANEL AT 1" OC. EXTERIOR - = N Heg
DENS-GLASS GOLD TO BE FASTENED AT ALL EDGES TO TOP PLATES, SILL PLATES AND |
STUDS WITH *& SCREWS AT 4" OC., ATTACHE TO STUDS IN FIELD OF PANEL AT 4" OC. ﬂ ‘ 4 _
i I roffal Al : u ] ] I 200
TN 02
SHEARWALL sW-2D L1 W © a
R I WADKIDE c-2
T < ] 000
EXTERIOR WALL -1 ¥ Cr2 | 000
<« <«
] [ |
H-5 H-5 ot 3 -
3
3
|| v
H-5 | ] 9 ﬁ = 9
o) & | — w \@ 222\ (220
3 3 7 % 7 7
—_ <
® 7 _
3 i : e |
g I H-8
3 3 B =2 C-I H-5
w ) T 1
m nHuu.v \“/ In w,
m < - . hm-uw sHEARDALL |su-3b | |
X H-12 3 tWizx2e 12113404 1D g wi2x26
7 n ( pi @ 3-26-08
ALL STAIR LANDING v /T E-2 ) cls 1l c-3 c-3 D REVISED PER ADDENDUM *
FRAMING TO BE 5 IR o 3 cla 2. ] .
TDJ225x1.15XI6GA © F3 / | g-2—# rﬂ Hﬁl_
(NLESS NOTED _ e — . | il & WRx4 - date| comments
OTHERUISE. \§-2 H-5
i REVISIONS
~ — — Wp4X55 TH]|
(W]
: = o Cl Job:2233—-1107
T H-2 H-2 \\w 8 SHEARWALL $Wi4mp H— 1 i 7
| — \
2'x4" UD BLOCKING IN §TUD _ 2[ Z -p 7 2 il 2R Q il .
LEB BOTH 8IDES m M o Date:12—-14—-07
H- 3 ¢ in 0
oEE DETAL 24/5.5 3 TTECAL EA 8IDE OF | mI_ ARWALL iBW-50 mw 19 ) )
2 7B \\\\\\\\\\ WM,—.)_- = ﬁm 2 ” = 2 7. H42 H- ) Im- m m
\\\ Q 200 006 EMMMAMMER Y CtHl
G 2 = - o)
47 % 16 GA. ABTH AGB3 STRAP COLUMNS 4 FIRST STUD \\ TS UELDED BAGK T6 - i i — - i - X 4 i
BRACNG EA 8D BACK 7 N H-1 =H-1 Wi2s5s 4l
S T N\ psmmeeied — — - - - = =] JAN .
£ TN RaiES o - |
,.. BOLTS M m N
i — 1 _ \ — 1 7 _ PRRNy el
4" x 16 GA. ABTM AGB3 STRAP / / 7 : / \ v / X X X XX X X H-4
BRACING EA. 8IDE ] / / \ / \ « / m
/ \ \Y / \Y / PROVIDE *6's @ 8 — = WIx44 =5
/ ] OC. VERT. TYPICA = e -
y IN CMU ELEVATOR Q
7 4 WALLS N -
\ 3 9 o = 7 =) c-s —~ %
ettt 3  — ——3 I = 1 I ﬁv I [ 1} C-1 N
©" x 14 GA. ASTM A6B3 STRAP V4 €. €. v /
BRACING EA. 8IDE HHS ©"xE"xI/4" [§) — — O
Fys50 K8l v 1 N N O
u ] ] B ( 8 o
% 3 3 3 ( N
i y by — -+ : N
. p? — 3 C 2 N . wi2x2e i}
— | L [ \ s
U U U % A~
U - / N |_ > |_ _|_ _|_ _| [))
FEfAL TR T\ /_J/ 3 PRETENSION ALL STRAPS 80 ALL H-5 H-5 H-5 c-1
i ! 8LACK |18 REMOVED
) 3 ;| 7 I L i , 1 [@
R =X = = e T e
¥ ikl | —— CORRIDOR JoleT H-& H-5 wizx2e [_|®
AT EA HBS 6'X6"xl/4"
Mpﬂﬁx _~M)m M@M.IUM}OMU STRAP y MM’.MZMW%U‘MNBDMUWE%
FivB0 Kai ) EXTERIOR WALL $-1 c-2
(3) <1/8" ¢ HILTI I 1
HIT-REBOO + HAS-B-1/8)
// \ EMEEDMENT =t
«.ﬁoﬁﬁ%ﬁ//ﬂ/ e Q_Iu
| T =
,..I,|.|W|_lf| lllllll U
ino_.»m\ /// \\\\\ @ @ e@ O
SEE PLAN —I

1\ BRACED WALL DETAIL 8W-3 GRID

@ 3/6" = I'-0"

"E" ONLY

SECOND FLOOR FRAMING

SCALE: SHOUWING FIRST FLOOR WALLS

ve" = 1'-@"

RICHARD F. STELDT ¢ ASSOCIATES, LTD. ARCHITECTS

OUNERSHIP OF DOCUMENTS
This document, and the Ideas and designs Incorporated hereln, 45 an instrument of
professional eervice, s the property of Richard F. Steldt and Assoclates, Lid.
and e not to be used In whole or in part, for any other project without the uritten
authorization of Richard F. Steldt and Assoclates, Lid.




